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Discussion and decision
1. Introduction
According to the current specification, the condition where the serving cell becomes worse than the threshold for the measurement reporting event A2, A5, and B2 is defined as follow: 

· Entering condition: Ms - Hys < Thresh
· Leaving condition: Ms + Hys > Thresh

However, we doubt if they are correct. 

In the Ms values, where Thresh – Hys < Ms < Thres + Hys, the Ms belongs to both the entering condition and leaving condition. For example, with the following assumption: 
· Thresh: 3dB

· Hys: 1dB

· The Ms is increased to 3dBm 
Then, it is unclear what condition should be applied to?  
Based on the above, we think those conditions should be corrected as follow: 
· Entering condition: Ms + Hys < Thresh

· Leaving condition: Ms - Hys > Thresh

If agreeable, we would like to reflect the following TP into the TS36.331. 

2. TP for TS36.331
--------------------------------------------------------- Start of change ------------------------------------------------------

5.5.4.3
Event A2 (Serving becomes worse than threshold)

The UE shall:

1>
apply equation A2-1, as specified below, as the entry condition for this event;

1>
apply equation A2-2, as specified below, as the leaving condition for this event;

Equation A2-1 (Entering condition)
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Equation A2-2 (Leaving condition)
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The variables in the formula are defined as follows:

Ms is the measurement result of the serving cell, not taking into account any cell individual offset.

Hys is the hysteresis parameter for this event (i.e. hysteresis as defined within the VarMeasurementConfiguration for this event)
Thresh is the threshold parameter for this event (i.e. a2-Threshold as defined within the VarMeasurementConfiguration for this event)

Ms is expressed in dBm

Hys, Thres are expressed in dB

--------------------------------------------------------- End of change -------------------------------------------------------

--------------------------------------------------------- Start of change ------------------------------------------------------

5.5.4.6
Event A5 (Serving becomes worse than threshold1 and neighbour becomes better than threshold2)

The UE shall:

1>
apply equation A5-1 and equation A5-2 i.e. both have to be fulfilled, as specified below, as the entry equation for this event;

1>
apply equation A5-3 and equation A5-4 i.e. at least one of the two has to be fulfilled, as specified below, as the leaving equation for this event;

Equation A5-1 (Entering condition 1)
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Equation A5-2 (Entering condition 2)
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Equation A5-3 (Leaving condition 1)
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Equation A5-4 (Leaving condition 2)
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The variables in the formula are defined as follows:

Ms is the measurement result of the serving cell, not taking into account any cell individual offset.

Mn is the measurement result of the neighbouring cell.

Ofn is the frequency specific offset of the frequency of the neighbour cell
Ocn is the cell specific offset of the neighbour cell
Hys is the hysteresis parameter for this event (i.e. hysteresis as defined within the VarMeasurementConfiguration for this event)
Thresh1 is the threshold parameter for this event (i.e. a5-Threshold1 as defined within the VarMeasurementConfiguration for this event)

Thresh2 is the threshold parameter for this event (i.e. a5-Threshold2 as defined within the VarMeasurementConfiguration for this event)

Mn, Ms are expressed in dBm

Ofn, Ocn, Hys, Thresh1, Thresh2 are expressed in dB

--------------------------------------------------------- End of change -------------------------------------------------------

--------------------------------------------------------- Start of change ------------------------------------------------------

5.5.4.8
Event B2 (Serving becomes worse than threshold1 and inter RAT neighbour becomes better than threshold2)

The UE shall:

1>
for UTRA and CDMA2000, only trigger the event for cells included in the corresponding measurement object;

1>
apply equation B2-1 and equation B2-2 i.e. both have to be fulfilled, as specified below, as the entry equation for this event;

1>
apply equation B3-3 and equation B2-4 i.e. at least one of the two has to be fulfilled, as specified below, as the leaving equation for this event;

Equation B2-1 (Entering condition 1)
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Equation B2-2 (Entering condition 2)
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Equation B2-3 (Leaving condition 1)
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Equation B2-4 (Leaving condition 2)
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The variables in the formula are defined as follows:

Ms is the measurement result of the serving cell, not taking into account any cell individual offset.

Mn is the measurement result of the neighbouring inter RAT cell.

Ofn is the frequency specific offset of the frequency of the neighbour cell
Hys is the hysteresis parameter for this event (i.e. hysteresis as defined within the VarMeasurementConfiguration for this event)
Thresh1 is the threshold parameter for this event (i.e. b2-Threshold1 as defined within the VarMeasurementConfiguration for this event)

Thresh2 is the threshold parameter for this event (i.e. b2-Threshold2 as defined within the VarMeasurementConfiguration for this event)

Mn, Ms are expressed in dBm

Ofn, Hys, Thresh1, Thresh2 are expressed in dB

--------------------------------------------------------- End of change -------------------------------------------------------
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